7

.

%7%%%

N
N

N
300

|
A

V. $12a15 L

U.K-1.70

»

AT

i

\

N

N\
\ U.K-1.70
‘\\, N

\
N

A

/ 7 NV e’ r’/ V.

\

AN
~—
U.K -0.85

N AN

/]
[ ]
]l
N

N. 8al5 L=230

I120/¥0

U.K -0.85

=600

11 20/70

M. 98a15 L=530
V. §12ql5 L=630
N $8a15 L

@ 0.K +0.05 0.K +0.05 |
38 TN NNENE 4] 42
e/ U.K -2.50
Tp)
S U, 98915 L=525 -
I LN
= M. 612815 L=525 N
R 10 o ~
V. 310815 L=790 N ; R >
¥ 1
— - 4 ¥_
35 /§§\ noleals (=70~ ) /5 S = * 015
N2 0 D=25 D=25 ol o 43
B B3
L I I
LN — —
G || =
+ S G| 3@ Q
< = 36 0.K +0.05 37 SHE N
- 7 =[] V)
v D
N/ N/
ip]
V514015 =450 15 15 - gl V. 912815 L=425 U, 38915 L =400
31 1 N —|H
14 Q S8 / _ S
s - i 0.K +0.05
. < | 32 Va0 4
< b=y =% [
= N } \
= = =
= 15 15
¥
LN —1
o
S e <
+ @ >
~ = !
o % e -
=
V1w
3|5
[ee] }l Ke'e) LN
[ ?ﬁ\ sl ells S
Lo\ N 20/20 R N 30/70 Sai A S
V4
30 < =
&
S8 -
v § 5 15
4
o
g |8 4 {?\28
e \{
<| |z
© 2l g
2601 AL 7 U. 310815 L=200
N . oiats L=5%0 V314915 =450 5T STl L7
" N.814915 L=810 N. $10215 L=300 §
S 10 -
o ™ ~
+ I > N
é% o |2 z S 5
g |5 5
ol o
24 TN 2
= -0.15 N
B a =25 = 7N
s Y
Lo Q = %
= Nlg | %l . _
+ i 7, S AT
™~ [an)
i AL 5 V. 38315 ¥
. 5 15 _ V. %calo _ "
@ N. 38315 % g
= 5 z
= = o
% 23 AT N 30/70 {19 1 30/70 (-1 N 30/70 N 30/70
22< ) 11 30/70 e N 30/70 UV 8 S1 S2 _
= g
o i
G n
© g V. S10815_L=550
0 V314815 L=450 - =
S 15 15 =
w § -0.15
) 217 e 21 -
2l KR 5
. g 'e.
% 515 <
o V. 310915 - U. 912815
" E o —— Tp)
s - g S . 310215 g
: g |5 - :
o = . = A
= % = = QIM 7914 L=180 v
= e]| 10 |2
M. 7314 L=180
16 0.K +0.05 /\ =
14<§> . 20770 Vi % 5%, w kl
] % N 17
8 |
e L G 5
3 <t < g B
% el = N
é % = = g}
- 1515 3 @
L% Dl b
< Gl @ X
b=y P o o
= 3l
1 H N 30/70 B 1 30/70 T)
B . %
- < V. 310a15 L=200
V. $10915 L=5%0 U.814915 =430 = @
3 - 53
@ N.314q15 L=810 1. 910815 L=300
h4
5[
=8 45/50
sl I8 e 0.K +0.05
e | x\fﬁ”/ 7772000, =
%%} R 8 o | 2
™ ip)
° Ay v
B =1
(B 5
S S ~
T & ig
L
> % U, 310815 1=550 U.o1491S L=525 |- U, 310815 L=350 -
o 15 15 —
AN
% N.314a15 L=810 = 15 % - 7 N. o015 L=550
— — [Tp]
R 0.15 s | 18 allz &
- D=25 S A 0.15 L K~
e NN D=25 ofly O
3 P BICRCEe SIS
3 al |z e 2= 5
~ =1 o S 2= <
d é (=4 & &
- :
=
/é\ 0K +0.05 Py 0.K +0.05 1 0.K +0.05 7y
<:> \ 777 2077 5777777777757 7% “/w(?fr 77777572578 2777 7 |
2 3
_ 45/50
Ip)
5
<t

S

@

i)
\|

635

Nn. ¢leals L

U.K -0.85
V. 910a15 L=4/5

V. 98215
N. 98al5

I\

U.K -0.85 ~

-0.10
D=5

7
U.K -0.85
1
%
0/?0//;
\QS Z )
g
U.K -0.85 / .
b
% > 912015 1=30
M. 38315 L=375 4% .

Z
v I

U.K -0.85 %//////},%{

V. 912915 L=200

oy

U.K -0.85

v

77277777k 77777

.K'-0.85

V. $8al5

n. 310215

S5

SCEEEE

U.K -0.85

_

U.K -0.85

N

.

UK -

85

(=)

N. $8al5 L=330

M

35
NN

N
.

N

N
N

"
NN

¥,

N\

D

N\

2

A

\\|

N

S

L

A\

X\

N
A\

N

N
N

}\\
NN

A

3
N

N
N

m
\\

A\

AN

A

ORI

0.K +0.05

1 25/70

V. 812915 L=630

V. 91015 L=300
M. 912al5 L=679

xggﬁ |

0.K +0.05

(1IN

NN NN R

0.K +0.05

U.K -0.85

U.K -0.85

J1T1T 1000

N0 60 DIN'I'N D"27712 "2 N9™9T1T 1
012N TNIRD R2 1INTN1 11720 2171220 17917 .2
P-500w [ 1'T 2711 2

' Uniu
71"N\1"R 400

DIN™? Vv, TI0N2 4 R | 172

NI TTIN 7D mAann 11mo (1
TR DN2 TINXA T DN X1 W (2

NRYT2?2 NWIRND NT2DN 1'NTN2 U (3
00N

NIT™N N7 2D "RATIR 122720 (4
ATINRTT

NR7Y 92 ‘W25 DTINN? DTN Wt (5
DN N2 O'TINS 20N NTUTT (6
498 17T TOTIR 1N1D DR R2R 20/20

$8e20D W +
0'N"9 N177R2 D9 20N N1 (7
$8G20 DWW 288 11T 10/20
YT 1RA DUTTNG? DTN DU (8
@820 DR 268 11T 20/10

TR "9 171721 NN (9

"N2V0IRT 2NWTT? DTURW 01 (10
"V0IRT 2NWTT XD DN "9

50 — 1 (101
T ts I Tl
N 20 117 "0

T X 12T
L Ty

Juyr Tl

1210 77

111]1

N1
ISR e VIV AR AR

n"1p 27T
1150 - 1:20 O T

02 N0 | 2/3/01010 190N

03/03/2024 Py

o o
1732 OTINM

29 O TO “TT) 2207 11101
04-6397280 D9 .20



AutoCAD SHX Text
rtv ,ufbh, nn"n

AutoCAD SHX Text
-0.15

AutoCAD SHX Text
D=25

AutoCAD SHX Text
-1.50

AutoCAD SHX Text
D=20

AutoCAD SHX Text
%%154 30/70

AutoCAD SHX Text
%%154 30/70

AutoCAD SHX Text
%%154 30/70

AutoCAD SHX Text
%%154 30/70

AutoCAD SHX Text
%%154 30/70

AutoCAD SHX Text
%%154 30/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 30/70

AutoCAD SHX Text
%%154 30/70

AutoCAD SHX Text
%%154 30/70

AutoCAD SHX Text
%%154 30/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 25/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
%%154.£14@15  L=810

AutoCAD SHX Text
%%146. £10@15  L=550

AutoCAD SHX Text
%%154. £10@15  L=300

AutoCAD SHX Text
%%146.£14@15  L=450

AutoCAD SHX Text
%%146. £10@15  L=200

AutoCAD SHX Text
%%154.£16@15  L=790

AutoCAD SHX Text
%%146. £10@15  L=790

AutoCAD SHX Text
%%154. £12@15  L=525

AutoCAD SHX Text
%%146. £8@15  L=525

AutoCAD SHX Text
%%154. £12@15  L=535

AutoCAD SHX Text
%%146. £8@15  L=535

AutoCAD SHX Text
%%154. £10@15  L=350

AutoCAD SHX Text
%%146.£14@15  L=450

AutoCAD SHX Text
2+2£16  L=175

AutoCAD SHX Text
%%154. £12@15  L=550

AutoCAD SHX Text
%%146. £8@15  L=400

AutoCAD SHX Text
%%154.£14@15  L=810

AutoCAD SHX Text
%%146. £10@15  L=550

AutoCAD SHX Text
%%154. £10@15  L=550

AutoCAD SHX Text
%%146.£14@15  L=525

AutoCAD SHX Text
%%146. £10@15  L=350

AutoCAD SHX Text
%%154.£14@15  L=810

AutoCAD SHX Text
%%146. £10@15  L=550

AutoCAD SHX Text
%%154. £10@15  L=300

AutoCAD SHX Text
%%146.£14@15  L=450

AutoCAD SHX Text
%%146. £10@15  L=200

AutoCAD SHX Text
%%146. £12@15  L=425

AutoCAD SHX Text
%%146. £8@15

AutoCAD SHX Text
%%154. £8@15

AutoCAD SHX Text
%%154. £12@15  L=535

AutoCAD SHX Text
%%146. £8@15  L=535

AutoCAD SHX Text
%%146.£14@15  L=450

AutoCAD SHX Text
%%146. £12@15  L=200

AutoCAD SHX Text
%%154. £8@15  L=600

AutoCAD SHX Text
%%154. £8@15  L=550

AutoCAD SHX Text
%%154. £8@15  L=375

AutoCAD SHX Text
%%146. £8@15

AutoCAD SHX Text
%%154. £10@15

AutoCAD SHX Text
%%146. £12@15  L=300

AutoCAD SHX Text
%%146. £12@15  L=650

AutoCAD SHX Text
%%146. £8@15

AutoCAD SHX Text
%%154. £8@15

AutoCAD SHX Text
%%154. £8@15  L=250

AutoCAD SHX Text
%%146. £12@15  L=300

AutoCAD SHX Text
%%146. £10@15  L=550

AutoCAD SHX Text
%%154. £12@15  L=580

AutoCAD SHX Text
%%146. £8@15  L=400

AutoCAD SHX Text
%%154. £12@15  L=635

AutoCAD SHX Text
%%154. £8@15  L=350

AutoCAD SHX Text
%%146. £12@15  L=650

AutoCAD SHX Text
%%154. £12@15  L=675

AutoCAD SHX Text
%%146. £10@15  L=475

AutoCAD SHX Text
%%146. £10@15  L=500

AutoCAD SHX Text
%%154. £14@15  L=830

AutoCAD SHX Text
%%146. £10@15  L=575

AutoCAD SHX Text
%%154. £14@15  L=835

AutoCAD SHX Text
%%154. £14@15  L=850

AutoCAD SHX Text
%%154. £14@15  L=835

AutoCAD SHX Text
%%146. £10@15  L=575

AutoCAD SHX Text
%%146. £14@15  L=600

AutoCAD SHX Text
%%146. £14@15  L=600

AutoCAD SHX Text
%%146. £14@15  L=550

AutoCAD SHX Text
%%146. £10@15  L=375

AutoCAD SHX Text
%%146. £10@15  L=375

AutoCAD SHX Text
%%146. £8@15

AutoCAD SHX Text
%%154. £8@15

AutoCAD SHX Text
%%146. £10@15

AutoCAD SHX Text
%%154. £10@15

AutoCAD SHX Text
%%146. £10@15  L=200

AutoCAD SHX Text
%%146. £10@15  L=200

AutoCAD SHX Text
%%146. £8@15

AutoCAD SHX Text
%%154. £8@15

AutoCAD SHX Text
%%154. £8@15  L=200

AutoCAD SHX Text
%%146. £12@15  L=400

AutoCAD SHX Text
%%146. £12@15  L=200

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
150

AutoCAD SHX Text
%%154. 7£14  L=180

AutoCAD SHX Text
%%146. 7£14  L=180

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
150

AutoCAD SHX Text
%%154. 7£14  L=180

AutoCAD SHX Text
%%146. 7£14  L=180

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
150

AutoCAD SHX Text
%%154. 7£14  L=180

AutoCAD SHX Text
%%146. 7£14  L=180

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
150

AutoCAD SHX Text
%%154. 7£14  L=180

AutoCAD SHX Text
%%146. 7£14  L=180

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
150

AutoCAD SHX Text
%%154. 7£14  L=180

AutoCAD SHX Text
%%146. 7£14  L=180

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
150

AutoCAD SHX Text
%%154. 7£14  L=180

AutoCAD SHX Text
%%146. 7£14  L=180

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
130

AutoCAD SHX Text
%%154. 7£14  L=160

AutoCAD SHX Text
%%146. 7£14  L=160

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
15

AutoCAD SHX Text
150

AutoCAD SHX Text
%%154. 7£14  L=180

AutoCAD SHX Text
%%146. 7£14  L=180

AutoCAD SHX Text
%%151 25/40

AutoCAD SHX Text
-0.15

AutoCAD SHX Text
D=25

AutoCAD SHX Text
-0.15

AutoCAD SHX Text
D=25

AutoCAD SHX Text
-0.15

AutoCAD SHX Text
D=25

AutoCAD SHX Text
-0.15

AutoCAD SHX Text
D=25

AutoCAD SHX Text
-0.15

AutoCAD SHX Text
D=25

AutoCAD SHX Text
D=25

AutoCAD SHX Text
%%154 20/70

AutoCAD SHX Text
45/50

AutoCAD SHX Text
45/50

AutoCAD SHX Text
45/50

AutoCAD SHX Text
45/50

AutoCAD SHX Text
45/50

AutoCAD SHX Text
45/50

AutoCAD SHX Text
45/50

AutoCAD SHX Text
45/50

AutoCAD SHX Text
45/50

AutoCAD SHX Text
45/50

AutoCAD SHX Text
-0.15

AutoCAD SHX Text
D=25

AutoCAD SHX Text
-0.15

AutoCAD SHX Text
D=25

AutoCAD SHX Text
nert gnusho

AutoCAD SHX Text
gnus npxhe

AutoCAD SHX Text
gnus nnahl

AutoCAD SHX Text
eurv gukv

AutoCAD SHX Text
eun, ereg- zhui rmpv

AutoCAD SHX Text
5)  ha kvushg knvbsx 52 a" kpbh vhmhev

AutoCAD SHX Text
7)  jduru, ngk p,jho cehru, pbhnhho

AutoCAD SHX Text
    02q02 tkt to xuni tjr,' zhui

AutoCAD SHX Text
6)  jduru, ngk p,jho cehru, jhmubhho 

AutoCAD SHX Text
     kph ,uf" hugmh jank utbxy"

AutoCAD SHX Text
8)  jduru, n,j, kp,jho cehr jhmubh

AutoCAD SHX Text
01)  jurho uaegho kjank uthbxykmhv

AutoCAD SHX Text
      jhaueho 

AutoCAD SHX Text
9)  mn"d uchuc kph tsr"

AutoCAD SHX Text
     01q02 zhui        jhaueho

AutoCAD SHX Text
     02q01 zhui        jhaueho

AutoCAD SHX Text
+

AutoCAD SHX Text
2)  ha kherut ,f" zu cmnus k,f" tsr"/

AutoCAD SHX Text
3)  ha kvznhi ngcsv ntuar, kcshe,

AutoCAD SHX Text
4)  vecki tjrth gk cheur, vnhsu, 

AutoCAD SHX Text
1)  xhnui vncbv g"h nuss nuxnl

AutoCAD SHX Text
    uv,tn,i/

AutoCAD SHX Text
    vcyubho//

AutoCAD SHX Text
2%%c8

AutoCAD SHX Text
2%%c8

AutoCAD SHX Text
4%%c8

AutoCAD SHX Text
8@20

AutoCAD SHX Text
8@20

AutoCAD SHX Text
8@20

AutoCAD SHX Text
kghui

AutoCAD SHX Text
kthaur

AutoCAD SHX Text
knfrz

AutoCAD SHX Text
1:50 - 1:20

AutoCAD SHX Text
cbhhi

AutoCAD SHX Text
,ufbh,

AutoCAD SHX Text
tcrvo ac,th

AutoCAD SHX Text
yk/ pex   0827936-40

AutoCAD SHX Text
nvbsx cbhi

AutoCAD SHX Text
zfrui hgec rjw vnhhxsho 92

AutoCAD SHX Text
eb"n

AutoCAD SHX Text
kchmug

AutoCAD SHX Text
A0

AutoCAD SHX Text
dusk

AutoCAD SHX Text
s;

AutoCAD SHX Text
nxpr aryuy

AutoCAD SHX Text
2-2

AutoCAD SHX Text
gunx ahnuah

AutoCAD SHX Text
004 e"dqn"r

AutoCAD SHX Text
ch, xpr

AutoCAD SHX Text
bhmbho

AutoCAD SHX Text
cyui  c - 03

AutoCAD SHX Text
srd, jahpv 1

AutoCAD SHX Text
fhxuh zhui 03 n"n

AutoCAD SHX Text
vgru,:

AutoCAD SHX Text
1/ jphpv chi crzkho nhbhnuo 06 x"n

AutoCAD SHX Text
2/ jpbhhv ccrzk gkhui u,j,ui kt ctu,u neuo

AutoCAD SHX Text
 P-500w

AutoCAD SHX Text
3/ crzk zhui

AutoCAD SHX Text
2/3

AutoCAD SHX Text
03/03/2024

AutoCAD SHX Text
drxv

AutoCAD SHX Text
02


	Sheets and Views
	02-2


